TABELA ROBOT ZIEMNYCH - WYKOPY

Pikietaz Powierzchnia | $rednia powierzchnia | Odlegiosé | Objetosé Suma
algebraiczna
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2.50 10.1 253  fa=== T
o | 110.1 25 25.3
2.35 17.0 40.0
0| 127.1 2.2 65.2
2.30 20.8 478
0| 147.9 2.4 113.0
2.15 23.8 51.2
0| 1717 1.9 164.2
2.45 25.4 62.2
0| 197.1 3.0 226.4
2.70 23.0 62.1
0 | 220.1 2.4 288.5
2.35 23.1 54.3
0 | 2432 2.3 342.8
2.25 24.0 54.0
0| 267.2 2.2 396.8
2.25 218 49.1
0 | 289.0 2.3 445.9
2.65 20.9 55.4
0 | 309.9 3.0 501.3
3.00 23.3 69.9
0 | 3332 3.0 571.2
2.60 18.1 47.1
0| 3513 2.2 618.2
2.50 14.3 35.8
0 | 365.6 2.8 654.0
2.75 265 72.9
0 | 392.1 27 726.8
3.25 30.8 100.1
0| 422.9 3.8 826.9
2.90 19.4 56.3
0| 4423 2.0 883.2
1.75 18.0 315
0 | 460.3 15 914.7
1.50 25.1 37.6
0 | 485.4 15 952.4
1.45 26.9 39.0
0| s12.3 1.4 991.4
1.40 35.0 49.0
0| 547.3 1.4 1040.4
1.20 25.0 30.0
0| 5723 1.0 1070.4
1.00 52.7 52.7
0 | 625.0 1.0 T It = 1124
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